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Structure of this paper

Number of Number of Suggested Marks R —
Section questions questions to | working time available of exan?
available be answered (minutes)
Section One:
Short answers 15 15 55 70 35
Section Two:
Extended 7 7 70 90 50
Answer
Section Three:
Comprehension
and Data 1 1 25 20 10
Analysis
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Instructions to candidates

1.

The rules for the conduct of Western Australian external examinations are detailed in the Year 12
Information Handbook 2013. Sitting this examination implies that you agree to abide by these
rules.

Write your answers in this Question/Answer Booklet.
Working or reasoning should be clearly shown when calculating or estimating answers.

You must be careful to confine your responses to the specific questions asked and to follow any
instructions that are specific to a particular question.

The “Formula and Constants Sheet” may be used as required.

Al final numerical answers should be expressed to three (3) significant figures and include the
appropriate units.
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Section One: Short Answer [70 marks or 35% of total]
Write your answers in the spaces provided. Where appropriate show all working.
Question 1

A helicopter is flying at a constant height above the ground. The helicopter is carrying a crate
suspended from a cable as shown.

The helicopter flies 20 km south. It then turns and travels south-east for a further 30 km.

(a) Determine the magnitude and direction of the resultant displacement of the helicopter.

~ 2
B~ = 90 t 30 — 2% 20 »20 c0s|3S  [4marks]
£
(-?:L = 2\ 10
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(b) The helicopter takes 15 minutes to complete the journey described above. What is the average
velocity of the helicopter? Give your answer in units of ms™.

\ 7%
= LB = Y6 - — Rb kwmin L [2 marks]
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Question 2

A student is unable to loosen a nut by using a wrench. The student then attaches a pipe over the end of

the wrench as shown in the diagram. /

Using the principles of physics, explain why the student is now able to loosen the nut.

Tha ’\“oxo‘\,e/ Nesked LU = Exx @ -
By wtaasing  twe distone Eona e puwot [Sr =l
1ot Powal uwlhaexe  Awe Ko s opphhe gl

@ pYoduce o loaxgex

o) o produ O gwenm toque |
will  be ‘(Q_olu_\.\(edg.

Question 3

The single rectangular loop of wire shown below is being pulled out of the 0.50 T magnetic field at a
constant speed.

An EMF of 0.60 V is being generated and the length of the side “/"is 0.30 m.
v .

T x| 3

) X X

L T\: R
XX X

| ;

@X X

B

What is the speed of the loop and what is the direction of the induced current through the resistor?
_ [4 marks]
MAveed EMME = n. L. 8 @
0-boO =\
o == = Y. 00 s
0-30 %0-S0 @
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(g) Use the gradient to calculate an experimental value of “g’. Give the final answer to 3 significant
figures. o T 2
F:L _ YT o, v W M > \_ [3 marks]
= k . _m
% 1Na) > % o~
=
_ wnwooe (Y
@ cﬁ‘(@o\\m‘f = 3
+ .
Y on, ¢ 4w % 0:01 % 0-30
9= — = =%
cz]wcxo\\u/\)c L. 90 > 10 @
-
Rowg® s Q.97 —> 409 ®
(h) Comment on the accuracy of the value obtained for “g".
velofwely  elose Yo Auwe Rxpected [ mark]
-~
valoe 0% Q.20 s @
End of Section Three
SEE NEXT PAGE |
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"""’(d) To obtain a straight line graph it is necessary to plot P? against 1/mz.

Complete the following table.

mz 1/m2 Average period

(kg) (kg™ P (s) P2 (s?)
0.020 S0 4o -ab
0.040 23S 05 v+ VD
0.060 W - 5 0.4 0- LAV
0.080 a5 0.1V O SWl

@ @ @ [3 marks]

(e) Plot a graph to show P?versus 1/m.. Use the graph paper provided.

Show P? on the y-axis and 1/m2 on the x-axis. Draw a line of best fit.

[4 marks]
O aus (D) asemx aby of ploX
© wae of best 5+
@ seale :
(f) Determine the gradient of the straight line obtained. Include the appropriate units.
Rise . Rsse [3 marks]
%*(M\em’k = o sdiant =
RKRuwy Ruwne
— \. 00 ' — (e}
S 23S

! _ >~
= W.00 %1 : — Y4:.%0 x\0

-
°
ON "

_X -
%‘%DXlD __% Y- w0 X \0

LAV\\’t s 51\1/\%
©,

%‘(M\m‘f W Yo\on/
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Question 4
The polar-orbiting satellite NOAA-N was launched in May 2006.

The satellite is now orbiting in a circular orbit above the Earth’s surface at an altitude of 870 km.

(a) What is the orbital speed of the satellite?
3 L
b [2 marks]
¢ = L3Ax10 + BMOxWO = TASx\W0 ™
) -t e\
2 Ge b b x o »x AT ¥ g
S = S:43% ~io
v 7.9 % 10" ©)
2 ol
A = T\ o wms @
(b) Calculate the magnitude of the acceleration due to gravity at the satellite’s altitude?
-~ _ AY
% — Gone - b.bT X\O ¥ SAT >\ @ [2 marks]
o
LA
N (1-2S x\w0”)

1
= . 5% NS @

The diagram below shows two circular paths around the Earth. Path 1 is not a possible satellite orbit.
Path 2 is a low-altitude polar orbit.

" Path 2

(c) Explain why Path 1 is not a possible satellite orbit.

ALl soatolliteos  must ovloit  ovxound e cotyo @
0§ A oot — Yo %«o\udc\ho\/\o\l Sotwe

exottos, by e oconbn o the  Sotulite pvovides

e contuipthol Lovco wneeded Yo keep dne astdelltes
W ou Stable oxbat, ‘ [2 marks]
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Question 5
A strong horseshow magnet of mass 264 g is placed over a metal rod which has a mass of 35.5 g.

Thin wires are connected to the ends of the rod and a current of 225 A is passed through.

Cae st T\ ‘

\

Lo owv wiNe

The magnet just begins to lift upwards.

(a)—Assume that the magnetic field between the poles is 4.00 cm wide. Calculate the strength of the
magnetic field.

l—m — N}
[3 marks]
I = g @
2 = g _ 03 2.3
g

RS ¥ v-o0W

o % = o A% T

0,

(b) What is the direction of the conventional current flowing in the wire? Show your answer on the
diagram.
@ [1 mark]

o n%bﬁ Yo \é&'l’ as  on dlaﬂxo\m

who +haoo Poge
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Trial 1 Trial 2 Trial 3 Average
mass mz (kg) Period P (s) Period P (s) Period P (s) Period P (s)
0.020 1.40 1.38 1.42 \. WO
0.040 1.05 1.06 1.04 \- 05
0.060 0.79 0.80 0.79 0- N4
0.080 0.73 0.75 0.75 o- Y
(a) Which two important variables were controlled in this investigation?
[2 marks]
15t variable Sorne oS @
Samn nass gy
2Mvariable | <apme Swdoace L: Same £xiction ) @

(b) Is it appropriate to include the values of the period P from all three trials when finding the
average period P? Explain your answer.
[2 marks]

Yoe — Mo Yesults of tas Hals

®§°~( endn  thass Mo ol vexy Lownsistont

@ YaxXe oo wo  outhiexs w Y dato

(c) Determine the average period P. Write the values in the last column of the data table.
[2 marks]

()

SEE NEXT PAGE |
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Section Three: Comprehension and Interpretation [20 marks or 15 % of total]

This section has one (1) question which must be answered in the spaces provided.
Question 23
Read the following information very carefully and then answer the questions which follow.

ESTIMATION of GRAVITATIONAL ACCELERATION

may

An experiment is performed using the apparatus above. A small disk of mass m4 on a frictionless table
is attached to one end of a string. The string passes through a hole in the table and an attached narrow,
vertical plastic tube. An object of mass mz is hung at the other end of the string.

A student holding the tube makes the disk rotate in a circle of constant radius r, while another student
measures the period P.

The relationship between these variables is given below:
4m’mqr
gm;

(Where g = acceleration due to gravity)

PZ

The procedure is repeated, and the period P is determined for four different values of mz, where my =
0.012 kg and r=0.80 m.

Three trials were performed for each value of mz used.

The data obtained is tabulated below.

SEE NEXT PAGE |

PHYSICS 3A SEMESTER 1 2013

Question 6

The diagram below shows a car moving around a curved bend in a road. The surface of the road is
banked at an angle 6 to the horizontal.

(a) Label each of the forces represented by the black arrows.
[1 mark]
(b) Explain the advantage in “banking” the surface of the road.
fle Ho  cot wnodes  avounde e conue o Huo [3 marks]
E = Mot
xood oo cenmtipital Soww (F = L ) will be ‘(Qqu\(,eﬁk@
Ow O &lo;\: 5%\&&&) s Q/QA/\‘\-‘(UPQ/*DJ gQ‘LQ_, Cownnv OV\\lg b@_,
provided by e Sdewosys  Svchiownal fove.  between e
tyes + Yood sudoa e — Huse Sove s vanable depandin
o Aue Yook Cowdihions etc . @
By \Do\\/\k\wa L Nood at an aw.Q\Q, Q@ tue Yaachiown fovu
will  haue o hoizontal Covn Pontnt LQC/O5>8> ac;hwﬁ @

towanAdsS o cantxe of P cuvwe — Haie Soxw can
now  founde  Yae vequned  canbtipetal Sovie |
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Question 7

Patients are normally asked to remove metallic objects before being MRI scanned.

A patient in a scanner is still wearing a ring of radius 7.5 mm. The magnetic field in the scanner is
0.52T.

(a) How much magnetic flux passes through the area of the ring when the ring is held perpendicular

to the magnetic field direction? 2 B
s = n’ LT 1B

A = = w (1S ) = ad @ [2 marks]

(P - Ba = 08D w L x\6

=
a.14 w0 Wb

O,

(b) The magnetic field of the scanner is reduced to zero in 0.085 seconds. Calculate the EMF that

can be induced in the ring. _S _S
m{, = ¢&_ ;,;f‘ = 0 —q.19xio = —a:19x10 2 marks]
-S
EME — NQG _ —1 ( Q19 10 ) @
At 0: 028
2

+ \LpR¥10 V

)

\

(c) Aring with a different radius would have a different EMF. State TWO other ways in which the
EMF in the ring would be halved.

1t way doub\le e tae tolens @

ond way ‘[\O\\\}Q/ -R_)\_Q/ S&"Qv\%‘l‘\/\ Oé ‘\"/\.Q/ (Y\O‘.DQM\C &\UOL/
SN\
W

[2 marks]

SEE NEXT PAGE |
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c) If the magnetic field changes at a uniform rate, sketch a graph to show how the EMF induced in

the coil varies with time during the 0.35 second time interval.

eny

P T === ==

0.5 Tl LS\
[3 marks]
End of Section Two
SEE NEXT PAGE |
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Question 22 [Total = 9 marks]

The “Before” diagram shows a coil at one instant in a changing magnetic field. The “After” diagram
shows the same coil at a slightly later time.

° & € ¢ B’ @ ° L ] Bf
®? o ° s 0 &
¢ 8 ¥ s @
° L]
2 & @ LI s
s & B & @
& % @ & = ° *
s # & LI
2 @& - € @®
s 3 & e = s * L

a) Has the magnetic field strength increased or decreased during this time? Explain the reason for
your answer. @
e Slux las  ode  SuithoX  ovpott

— $‘HQM%¥\/\ ok LS, hoas AocX2o S0 [2 marks]

©

b) Use the information in the following table to calculate the EMF induced in the coil.

Coil radius =0.15 m
Number of turns = 250
Initial field Bi=1.50 T
Final field By =0.25T

Time taken = 0.35 seconds

- l .

A = T = TMx 0-\S = Tl 971 %10 ™m
s = -
1:SO % 1.07 %10 =

[4 marks]

0-10b Wb
¢‘ B = -~ o.01"17 Wb @
P — BA = 035 % 107 %0 .
>~ b= Py, = — 0-0W3 Wb
7 ( _
ce = —NDBO - 3SO (— e.0223) ()
“ it o Bs
= + L3V ©)
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Question 8

A girl of mass 25.0 kg is hanging on to a rail on a carousel (roundabout) of diameter 5.00 m. The
carousel takes exactly 2.00 seconds to spin around once. The girl can hold on to the rail with a
maximum force of 255 N.

Will the girl be able to hang on, or will she be forced to let go of the rail? Justify your answer with an
appropriate calculation.

5 gl
T ane | Awx ase g, 2 O
{ = g > [4 marks]
5.
= ow- . BS x 1.2

N b7
© Y O Tas O,
Swe  mnaximuna Sovee B > @S N y She will nee A

Yo ot %o . @

Question 9

Susan states that there is no force due to gravity acting on the International Space Station (ISS). She
says this must be so as she has seen television footage showing astronauts and equipment floating
around in the spacecraft. '

Rose states that this is a common misconception for orbiting spacecraft, such as the ISS.

Using the principles of physics, help Rose convince Susan that there must be a force due to gravity
acting on the ISS.

—
Tue  Satelhite 1 shill withn e Baitlhs L8t maka]
qravtobional Steld . The grauitational Sowe provides

e cembiipetal £ovie vequued Lot Fue 188 to tamtarr
o shoable ot axound Huo Eaxthn @

- hone rtaust be oo £Lovwe due to %xo\u\-\:\d Oabflvxﬂ
0w\ ‘\'L/\Q/ \35‘

SEE NEXT PAGE |
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Question 10

A sprinter is shown before a race, stationary in the “set” position, as shown in the diagram below.

Force F is the resultant force on the sprinter’s finger tips. The reaction force, Y, on her forward fdot is
180 N and her weight, W, is 520 N. X is the reaction force on her back foot.

e 0.63m

a) By taking moments about her finger tips, calculate the force on her back foot (X).
Tokuwn 9 woo wonts  about P

Sew = 2Acw (@ macks]
w X 0- b = k‘-1 > o.\e\) + (x = 0-lo?>>
Sao ¥ ©0-Ab = (woxo-1) + 0.b2 ¥
\2S: = 13- % + o0b2x%
LY
- = a7.5
e ¥ = 0 b3 TR O

®

b) Hence, calculate the magnitude of force F.

FVP = E diseas @
- [3 marks]
F 2+ o + Q78 = S 30 @
w, £ = B8p — B0 —a7-E

. F - WS N

©

SEE NEXT PAGE |
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(c) By taking moments about a suitable point, calculate the tension in the supporting cable.

Toakun % [NaVe s 0/\/\{-5 obout X
S e = Zatnd @
L\N % \o) + LW'& % 1. 5) L—rsw\ ‘&b-g) : S8

(WS %16 »a-2x10) *+ b (W0 =10 xa-2xvts) =(Tsmael) 2

W gl
W. W\ %10 4+ 1-354b x \o

q
1+ A¥T % O

[5 marks]

(Tsmabb) 35

(Tswmabk) 35 (O
1.7 w \0(l
swn 2b-b x 28 @

L
Tonsionw — SO w \D N

O,

(d) What happens to the tension in the cable as the truck moves further to the right along the
platform? Explain your answer.

To  Yemnawn W Lq‘\.lklll\bx(luw\ [3 marks]
S e = 4Acw

Wwheny  twe tvuckk MoV 2.5 ‘o Ntc;ah‘i' BN &M@O‘(D\\)Q/
(loxgax ,,T”)

= e AW ’roxa\ve, must also  wexease @

w i\ WXL S Q.

S, @ v distone to tue pwot ave the

Sowne & Moy o ‘\‘2,4/\316\/\; will  wWnace .

0
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Question 21 [Total marks = 13]

A particular structure consists of a concrete platform PQ attached to a central pillar by means of a very
strong cable as shown in the diagram below.

central pillar

(a) The structure is in equilibrium even though there are three forces acting on it. Draw and label
these three forces on the diagram.

[3 marks]

The diagram below shows a heavy truck moving along the platform. The distances (in metres) from the
central pillar are shown on the diagram. The centre of mass of the truck is at the 10.0 m and the
platform extends 35.0 m from the pillar, the top of which is 17.5 m above the platform. The platform is
uniform and has a mass of 440 tonnes and the truck has a mass of 45.0 tonne.

central pillar

T supporting cable

(b) Calculate the value of the angle ¢.
=8
 _— Q5 = @ [2 marks]

>S
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Question 11

Two similar bar magnets (A and B) are arranged in a number of different ways as shown in the
diagrams below. In each case the distance d is identical.

Arrangement 1 Arrangement 2 Arrangement 3

In Arrangement 1, Magnet B experiences a repulsive force of 5 N upwards.

(a) In Arrangement 1, what is the magnitude and direction of the magnetic force experienced by

Magnet A?
[1 mark]

SN Aownw oN S @

(b) What is the magnitude and direction of the magnetic force on Magnet B when it is below Magnet

A asin Arrangement 27
[1 mark]

SN downwoxads @

(c) When Magnet B is to the left of Magnet A, as in Arrangement 3, will the magnetic force be
attractive, repulsive or zero? If non-zero, do you expect it to be greater than or less than 5N?
Give your reasoning.

Moagmefie  Sover  will b abiechive (O zmarks]

Yotal S = S =+ S = ton
@ greatex (1)

SEE NEXT PAGE |
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Question 12 b) Determine the vertical component of the Earth’s magnetic field near Albert Park. Include the
i ) direction.
The helicopter shown in the diagram below is moving horizontally through still air. The lift force from the ® = %Q/ . Sw S’ @
helicopter’s blades is labeled A. Y [3 marks]

-b
LO % WO ¥ sm\fl@

-5
S 82N w10 1T UP\MO\‘(O\,S

L'N SS-‘}\/J\/—\)

c) Calculate the EMF which would be generated between the tips of the wing on the racing car.

EMNE = p. 0.3 @ [3 marks]

= 292 2D w S S2X\lo
—_— %
) 3:b @
a) Name the two forces B and C that also act on the helicopter. a3
= T LA ¥ oV
o Nesastanwl c weiglt
INog ® ( )

O,
[2 marks]

b) If the helicopter is moving with a constant velocity, what is the net force acting on it? Why?

tounstant UQ/\DMJ(\Z" "T> o = 0

.~

@ [1 mark]
A wek Lo must  be 200

d) Which end of the wing (as viewed by the driver) would be positive? Explain how you
determined your answer.

c) The lift force, A, is 9.5 x 10° N and acts at an angle of 74° to the horizontal. Calculate the
weight of the helicopter.

. = [3 marks]
Plan . < Ug\v\o() RU  vyule
. Vi e
vextical (Loznpow.vd' . w%\,\—\— @ (3 marks] Q @ = AP mih‘c +l\>
o Lt o ’ ° : o Yo un
V\la
A s W i Bailke ogmetic Sl ‘I ’ will be posite
£ . . <
S w = A4S x\w0 x sw WY @ ot of POy

] . ®
01D w10 N ® J/
- ©
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(f) Calculate the period at which the Ferris wheel must rotate if Bonnie experience
“weightlessness”.

e = ©
e ' [3 marks]
So I ¢ = A0 »\1- S
=1
= Ar = 204 ms

vrs D
- = e — QAT % o Ry GBe,
AT 12-09 e

©

Question 20 [Total = 11 marks]

Formula 1 racing cars have a wing above the rear wheels that causes a downwards force to aid
traction. The wings are often made of graphite, a form of carbon that is a conductor.

A car with a 2.2 m wing is travelling south at 228 kmh™'. Assume that the wing is electrically insulated
from the rest of the car.

Albert Park in Melbourne is the site of Australia’s F1 race; the Earth’s magnetic field here has strength
of 60 uT and an angle of dip of 67°.

a) On the diagram below, show the flux lines of the Earth’s magnetic field in the region of the car.

@ [2 marks]
o 1°

Racing Car
br1® w1° .

Ground @

SEE NEXT PAGE
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Question 13

A transformer as shown in the diagram below is being tested. The primary coil is connected to a battery
and switch. The switch is initially open and no current is flowing in the primary coil. An ammeter is
connected to the secondary coil and initially shows no deflection. When the switch is first closed, the
ammeter needle is deflected to the right and then returns to its initial position of no deflection.

transformer 0
switch ™\ EEEaE

—
DC supply
|

AR A RN AR

L

AAAAAAANAAAA

(a) Explain why the ammeter deflects when the switch is closed and then returns to the un-
deflected position.

C,\os\\)\q\ Tl Swiiteln — et o e p\\mm\d
L —

tol  will wenanco. Svorn O Yo o Constawt value
ovaX o buek wwtoxval o0f tine = e wogwahic

Liapd oxovnds e phvaoyy  eodl will be \V\c:(usmﬁ

duxing Haie hrne & S0 Haaxe will = o c)/\o\uuhQ/®
W tnosmatic Llux (BP) & S0 & Gl wul be

Cwndveed anw Haae Plivnaty col .
Wold v awtteln down . A s O clhangd \n £lux

=

() &« wo EME will be wAvced, W e SQOQmLtO\(\d
@Ll =3 avnwaetex will Neadl 2eX0 .

[3 marks]

(b) The switch, which has been closed for a short time, is now returned to the open position and
remains open. Which one of the following best describes what happens to the reading of the

ammeter?
[1 mark]
A | It deflects to the left and stays in this position
B | It deflects to the right and stays in this position
C | It deflects to the left and returns to the middle position
D | It deflects to the right and returns to the middle position
E | It does not change

c]l ©

SEE NEXT PAGE |



PHYSICS 3A SEMESTER 1 2013

Question 14
A horizontal beam is held in position by a rope as shown.

The connection point on the wall is moved from location X to location Y to location Z. Assume the
length of the rope is adjusted to keep the beam in a horizontal position in each situation.

R

initial position

Y

second position

final position

beam

Which of the following best describes what happens to the tension? Write the letter corresponding to
your answer in the box.

A: Tension increases

B: Tension decreases A
C: Tension remains the same @

D: Tension increases then decreases.

Justify your answer.

e G toxqe  eveatsd by e wught 0% 4 marks]

e beara  Yewaamns  Constawt @
= e ACw  towgve exeato A ‘D\a o Yope Mmust
aleo Newoeun  townetant tonstouct
Ao toxgue = (TswmB). &
I s, e L
- b wn B

d s
©

as 3w O dewwases e townsioww will
wmeXeLa s e
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Another familiar ride at the amusement park is the Ferris wheel.

The wheel shown in the photograph moves in a vertical circle with a radius of 17.5 m and with a
constant speed of 9.05 ms™.

(c) How long does it take the wheel to complete one full rotation?

o= e o 2 QO m
T ‘

- = 2w x 'S — 12 2 Srconds
A0S

©,

Bonnie, a passenger on the Ferris wheel has a mass of 57.3 kg.

(d) What reaction force does she experience when she is at the highest point of the Ferris wheel's

circularpath?al _ mod . mU’L @
—\(* o [3 marks]
! - 872 %wQA.05%
= (grzxa-r) — s ©
o R = NAD w0 N vpwoxdAS

O,

If the Ferris wheel rotates fast enough then Bonnie may experience “weightlessness” as she passes
through certain parts of the ride.

(e) What is meant by the term “weightlessness” and where on the ride will she experience it? Why?

! \N@,Lzb\n‘HO,sél’\ﬂ_S.s// — %ensotiownn 0ok wot @ [3 marks]
LEpRNUN Ly Ay Neockonm Soxte Ow twe bnci\ﬁ
Lt
At top o0& vde R = mca——if\% o
T
® Lo ‘:g tn = (‘_{\_\)- FaLans B = O
' X
SEE NEXT PAGE |
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Question 19 [Total marks = 16]

The photograph below shows a roller coaster ride at an amusement park. The roller coaster wagons
can move along the track safely as long as high velocities are maintained.

The track shown in the photograph is circular in shape and has a diameter of 32.6 m.

(a) What is the minimum speed that the roller coaster must have in order to remain on the track at
the highest point of the vertical track?

at top Fo =W [2 marks]
T
-
A?": g% = 8:%0 02 '3 = isa.1
=
jU'e/ = ‘?\‘o ms @

One of the passengers on the roller coaster, Carla, has a mass of 49.4 kg.

(b) What reaction force does she experience when the roller coaster is moving at the lowest point
of the track with a speed of 18.3 ms™'?

g = Wl.)}’ + g ® [3 marks]
N
. -
= 4w %3 (q.%xka.q)G
L. =
2
2 = - S0 x w0 N

- ©®
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Question 15
A step-up transformer is used to convert a voltage of 1.50 x 10* V to a higher voltage of 3.00 x 10° V.
The primary coil has 2000 turns. Assume the transformer is 100 % efficient.

a) How many turns are in the secondary coil?

\
NS _ S : ® [2 marks]
Np Ve s
Vs oMy = %'OOX\DW - ‘A0 00
B Ne, = Vg S0 0

Yo, 000 tuns @

b) The power supplied to the primary coil is 6.5 MW. What is the size of the current in the
secondary coil?

Swne *mvxsgo—w\u__( S \oo% .L{gf,\ue,uv\'
[2 marks]
Py = LS o @
v = S
' LS %1\0 = Us. s = 300 %0 X% T
L
L.S x\0D
= Te = P = autTa
%00 % \0 PRV, ®

¢) Which coil wires should be thicker — the primary, or secondary? Explain why.
TThe  puivnety ol u\‘n\\ Coo(*fxd e loouz\o_)( [2 marks]
@ N et —> Y potantial  Sod o Sipgicant
lose  of ovaxqy duz to Neswshue m’m,\ﬂ (_IIR)

will  be  greatex . @

howe less ~Nesweltowne = wues
Srould, b HPacice X

Thckox wwes
A YAl \:N\\N\ooua col

End of Section One
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Section Two: Problem Solving [90 marks or 50 % of total]

Answer all SEVEN (7) questions in the spaces provided.
Question 16 (Total marks = 14)

A softball is hit at an angle from a point 1.0 m above the ground. The softball has an initial velocity of
19.5 ms™ at an angle of 50° above the horizontal, as shown in the diagram below.

The ball is caught by an outfielder as it returns to a height of 1.0 m above the ground.

lgnore the effects of air resistance.

outfielder

/\J\N = A Cos & [This diagram is not drawn to scale.] A5~ N “Nresm B
= 19:35 (o0s SO = 19-S swn So
= X352 wng = W AW s
(a) Calculate the time the ball takes to reach the outfielder. @
\ 2
vextical notron Sz wta & sk [3 marks]
= -y e
A 0 = 1¥.q% — &-Aat
& = & w k= — F0S SR

-9 S
© 0

(b) How far from the batter is the outfielder when she catches the ball?
distonce = \(G\u\ﬁ (o8 [3 marks]
= vie ©
= 12052 « 205

®%
O,

= 23 A m
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The orbit of Jupiter is known to be elliptical rather than circular. At Jupiter’s closest point, it is
4.95 AU from the Sun and at its most distant point it is 5.46 AU from the Sun.

(c) Calculate the gravitational force of attraction between Jupiter and the Sun when Jupiter is most
distant from the Sun. |

{ 1\
R = S4L x .Soxw = 2. 14 %10 m

== [4 marks]
F — C‘ m S - ™ Ry @
g @
Tl 30 WY

b- b x\(; w L-A9 %0 % 2\ x S O71Tx\0

(210 x w0") & ©)

2>
e %qu 10 ‘\\

. Sovwe =
O,

(d) Calculate the centripetal acceleration experienced by Jupiter in its orbit when it is most distant
from the Sun.

= ™ oL [3 marks]
F I ¢ AN>
" 2T x0o
g MR — N
w o = - 21% % S-aT X\O\{ ©
e I
T
@ — . %10 ws
_ <M A
ol o\’ — % = qm\‘ ‘% Ay = \‘O\%X\O wns
il e - c
SEE NEXT PAGE |




PHYSICS 3A SEMESTER 12013

Question 18 [Total marks = 13]

The planet Jupiter orbits the Sun with a period of 4333 days. It has a mass 318 times that of the Earth
and a diameter 11.2 times larger than the diameter of the Earth.

(a) Calculate the period of Jupiter's orbit in seconds.

[2 marks]
Peciods T = 4333y U xbo xbo (1)

L
= 2.7W x10 SecC

©)

(b) Assuming Jupiter has a circular orbit with a radius of 5.2 AU (astronomical unit), calculate the
speed of Jupiter as it orbits the Sun.

Note: 1 AU = distance from the Earth to the Sun

| . X
R = S 2% \-:So ><\Ol = 1-%0 %10 oA @ [4 marks]
F - Gms
R, -
= >0
_ LebT x\0 ¥ VA x0 @
\
-0 > 0
A R
N = i+ To > 10 @
¢ )
20 - = 30 %10 ms@
oy \,k ,\
o A= 2 lad — A= 3l x\w0 ms
T
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(c) Calculate the maximum height above the ground reached by the ball as it travels to the

outfieIQer. oy a %
vexkieal waohon = W +’z, as —
0O = w.qy — 'a-bL s
u, = \Y.aw i
W q
e = W 2 = —_\L - = WY ¢
\a-b
o = —a-%
ooty imaumn \/\LL%\N\‘ — n-¥ + 1.0 @

olbove Qﬁouvm\, Y m

(d) What is the direction of the net force acﬁng on the ball at the highest point of the trajectory?

i 1 mark
veA’C\eq\\\.d aownwa%o{i_s @ [ !
(e) Does the ball have an acceleration of zero at the highest point of the trajectory? Explain.
N Rhe kall sk Lxpe\enie s  a [2 mark]
@ Ao S occelexohrormn 05 Q.% ¢ae &
due Yo Qo \’c\a @

(f) A tennis ball is now hit at the same height and with the same initial velocity as the softball in part
(a). The two balls are shown in the photograph below.

|

tennis ball softball !
1

|

State one difference between the balls and describe how it affects the force of air resistance.

tonns ball has oo Youghed sunkace textuve —

®

WX a0, A Neastawn

alse  swbace  axea

ol MnossS [2 marks]
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Question 17 [Total marks = 14]

The diagram below shows a small DC electric motor, powered by a battery through a split-ring
commutator.

The rectangular coil has sides KJ and LM of length 70.0 cm, and sides KL and JM of length 40.0 cm.
The coil contains 4 turns of insulated wire.

With a current of 15.0 A passing through the coil, a maximum torque of 0.600 Nm was achieved.

a) Does the coil rotate in the direction shown as A or in the direction shown as B (see diagram)?
Explain how you decided.
Using RY yule +o Linds e dwectvon

0f e Sol Ou:;hw?\ on IK @
= ol will Yotate

A(Lud@

b) Calculate the magnitude and direction of the maximum force acting on side KJ of the coil.
[Remember: Torque t=2 (F xr)]

[2 marks]

@ Sovwe s vpwoxds

e |

,\\_,/ _— A F x @ [3 marks]
o-boo = 9 w ¥ x ©-30
@ e = ea. = . S0 N
A x 0.0 @

Adownw o AS

®
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c) Hence, calculate the strength of the magnetic field between the poles of the magnet.
T = W Lj—: Lg) @ [4 marks]
wox \S ¥ 0-710 =

.50 ©

U X \S x 010 @

— &
= 5 ST x w0 U

e \. S0 =

By =

©

d) Why is the split-ring commutator an essential part of a DC electric motor?
: [2 marks]
e tovamudotod  wall Youoxse Pl dwechion

0§ euxent  Slow wn Wap atroatune  wexy @

Yo~ Yototiown

= e v s o\c/t\wzx o~ e swdeS 0§ tha

6«5\\ wo L Conae, b to Yotate CJO\/\%\V\\)O\Jsl\a
w A s davectiownw @

e) Sketch a graph showing the magnitude and direction of the torque produced during one
complete rotation of the coil. Assume the coil starts perpendicular to the magnetic field.

1 rotation /

© [3 marks]
OA
(0]
2 o
2 o
Q
R _
&)
, ° Q© stad
0
£ 0 \ \ h
o d S
s ° / \ ©
[&)
=
< ©
3% £ g et
8 ©
o °
bk

Ya rotation
3/4 rotatior
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